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Fe=X 97,503,030 94,957,838 2,545,192
= 60,585,180
[ 2,524,911
Jl 251,993
< 5,325,380
T 28,815,566
e SINEFN 15,480,159 16,343,123 137,036
= 5,790,209
s 662,908
Il 87,000
= 1,424,143
[Ea 7,515,899
SX0= 4,330,075 4,833,548 A503,473
= 562,500
s 138,908
Il 87,000
= 229,847
o 3,311,820
=X01= 60,186 70,400 A10,214
201 er23| 44,226 52,200 NT,974
01 AtR2t2|HI 26,026 30,000 A3,974
NEXD1& PR A
8,000 x4 »633] 2,016
DAMR 2 A2EF P
90,0008 * 122 1,080
NDAIRISIIAIZ & 22 W&
900,000 900
NEXAIY DE X 2 KA HMA
4,5002 x100+22] 900
N21SX =8 & S22 M
4,500& 10071 22] 900
NEXARINN 22 & XY S 222 MH
4,500 x20004 25 1,800
NASEERRA 2K HEL 4oslg &
o =g 70,0002 x1H =33 210
DA 2ZEAMUEARZ] 3|2 &FHA
=g 100,000& x10E12] 1,000
DS SHEHAMALARS] 3 FHA
=g 100,0002x102*13] 1,000
NEHEAM AR 3|9 & SRARXHL=
2 2 50, 000218424 4,200
DRSABISEHE AIBHEAN 2 2D S
NEN 9,000& x50 *22] 900
NE, Z=4HE AR AEH & 82 WE
1,150,000 *23] 2,300




S FRI=XID
Ha: ot
J

=9 SAJE (Sl 2 )
2 - IE
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
NYEAZ s 28t
315,000 *14CH*23] 8,820
2 55234l 18,200 22,200 4,000
NEHROPDI=ELA=IMEIA S22
300,000+ 12 3,600
=X A2 SHRI
400,000« 122 4,800
NFUSAL I S A28
150,000& * 12 1,800
NABISX MES2H doi2E:
8,000,000 8,000
202 04| 15,960 18,200 A2,240
01 SLHo4H 15,960 18,200 A2,240
N=X01& PRFX AL
60,0002 x4 *633] 15,120
N=X018 S22 S0
60,0002 x2& +73] 840
NASOHHAZ0IZ?2 386,770 370,330 16,440
301 EetE NS 386,770 370,330 16,440
2 ABIZEEAES(HAAS, NLHR) 386,770 370,330 16,440
e, TEYV oA 01T AL
40,0002 +3,850 <22 308,000
N, FHYE ASSKAE 22
1,000,000& * 1774 2523 34,000
NE, EHIT Y2 9IS
55,0002 407 2-+23] 44,770
NASSXE 86,800 86,800
301 22N = 86,800 86,800
02 ANRI2HHHS(HAAS, NLHE) 86,800 86,800
N=IIZSXIA SAIH HAANES X2
200,000 x5 +33] 3,000
1)=&l 2otoi| 25,0002 x40 1,000
NHAS QM HAEEE NI
6,900,000& 12 82,800
SXIHEXI 2 837,560 780,000 57,560
306 E¢= 587,560 500,000 87,560
01 &2 587,560 500,000 87,560
DI
587,560,000 587,560
307 elzto| & 250,000 280,000 A30,000
11 ARl =K 250,000 280,000 30,000
a2 =X SA= S
20,000,000 20,000
DEENE L EHS B, 58
s) 10,000,000 10,000
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M FoE=NEA
el =X01E (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
DAL FHSAAS 2ASKE (A, 2=, =S
EEXE S) 220,000,000& 220,000
SE20I0ISSARIAEIA 80,000 100,000 /20,000
307 gl2to| & 80,000 100,000 /20,000
1 AMISXAIEEXS 80,000 100,000 /20,000
NEE=0 0l0I8AMHIA X
80,000,000 80,000
ZCWIRIHIXA(EX) 50,000 50,000 0
< 6,800
s 43,200
307 glztol & 50,000 50,000 0
= 6,800
= 43,200
11 AMEISXAIEEXS 50,000 50,000 0
NE=w3s XA 50,000,000 50,000
= 6,800
o 43,200
2=2=2X(EXR) 693,750 1,005,390 A311,640
= 555,000
= 69,375
Ea 69,375
301 EetE2 NS 693,750 1,005,390 A311,640
= 565,000
= 69,375
= 69,375
01 Al EE A Z2(2RDEXR) 693,750 1,005,390 A311,640
N==XX& 693,750,000 693,750
= 555,000
& 69,375
= 69,375
INEnE =V IEPNE=3=P/ k! 100,000 100,000
403 AXIEHMSAH=0ld 100,000 100,000
02 SISOt =2 A P E A I 100,000 100,000
NHASENHXESEME ALY
100,000,000 100,000
KA ST EAM(EX) 206,873 152,629 54,244
& 8,575
Ea 198,298
307 glztol & 206,873 152,629 54,244
= 8,575
= 198,298
03 2IIHHEE2SHIEx 107,873 58,629 49,244
NAIZXISAABI SE UM Aeeled oA
HI(2X) 42,873,000 42,873
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< 8,575
s 34,298
NAIHZXIHALSI EHE M 2]
20,000,000 20,000
NAIIZXISAIZI EEE M Mgeled oA
] 45,000,000 45,000
11 AMEISXAEEES 99,000 94,000 5,000
NALEISXISALAL & SSHEH SHotSUE
e 20,000,0002 20,000
NOISWAHY X A 61,000,002 61,000
NENEN 2% #a3 X
10,000,000 10,000
NEHe &7 2/XI 8.,000,000& 8,000
EAtAIZI2IAH B ) 82,256 80,552 1,704
= 34,728
== 3.473
[Ea 44,055
101 e124d| 69,456 67,752 1,704
= 34,728
=S 3,473
s 31,255
03 SR (RIH )22 U2+ 69,456 67,752 1,704
1SEAI22lA X3 (2Y)
34,728,000 2 69,456
= 34,728
= 3,473
o 31,255
WM HsEE=S 12,800 12,800
M SRA(RIHL) 22X EE2RE=s S 12,800 12,800
NSe A2l A2 EERE3(2Y)
2,200,000 x2H 4,400
NSeAd2elAl RIS RE3(2E)
3,000,000& x2&H 6,000
NSE M2 DSEERLS(2Y)
1,200,000 x2H 2,400
SEAldZe(EX) 15,000 15,000 0
= 7,500
=S 2,250
s 5,250
201 et 3| 5,000 5,000 0
[ 2,500
= 750
Ea 1,750
01 AtR2t2|HI 2,000 5,000 23,000
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1S Atd2te] At 22|
2,000,000& 2,000
= 1,000
< 300
T 700
03 ALY 3,000 0 3,000
DESAIZR] ALY o2 23]
3,000,000& 3,000
= 1,500
& 450
= 1,050
301 EtE N = 10,000 10,000 0
= 5,000
< 1,500
s 3,500
01 A2 HSFS(RNEERTHE) 10,000 10,000 0
1) SEAt2te] At At
10,000,000 10,000
= 5,000
< 1,500
= 3,500
SHSASESEMUIA(EX) 138,114 138,114 0
= 96,680
[ 4,144
T 37,290
201 Eer23 | 21,000 21,000 0
s 14,700
== 630
o 5,670
01 At22t2l] 21,000 21,000 0
1NEY R0t BASKAMHIA 2|
21,000,000 21,000
s 14,700
s 630
s 5,670
301 LELE NS 17,114 17,114 0
= 81,980
=S 3,514
s 31,620
01 Al EE A S(FRNEXM) 17,114 17,114 0
1)SY R0t=e BASKIAMHIA AFSHI
117,114,000 17,114
= 81,980
=S 3,514
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M FoE=NEA
el =X01E (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| = 31,620
SelSUHIHZASXDISH(EX) 427,000 339,000 88,000
== 128,100
[Ea 298,900
201 =3 19,000 14,000 5,000
< 5,700
s 13,300
01 At2tltl 19,000 14,000 5,000
Nelsul sHZAH SIS X2
15,000,002 15,000
< 4,500
2 10,500
NSRS HZAF =ZXIISH 2es L o
gddstu=s KA 4,000,000 4,000
< 1,200
Ea 2,800
301 LEtE NS 408,000 325,000 83,000
= 122,400
o 285,600
02 A2 A LGS (FHAAHS, NSWE) 408,000 325,000 83,000
Neelsul sHZ2AL =XDIsH 2¢
408,000,000 408,000
=S 122,400
s 285,600
=UHZEOXNEMI A LEFHEX) 8,000 9,600 21,600
301 2eEN=S 8,000 9,600 A1,600
02 MBI 2HEHSFHS(HAANS, XLHE) 8,000 9,600 /1,600
10048 MEUR SSAAE S4RF XI(
HASE) 8,000,000& 8,000
A SXAIESDR(EX) 5,432 5,432 0
= 1,630
o 3,802
307 @201 & 5,432 5,432 0
s 1,630
s 3,802
12 QIZFQIRE = H| 5,432 5,432 0
DMEIZXIA Eu= X2
5,432,000& 5,432
& 1,630
= 3,802
ARISXASH NS 80,000 80,000
301 EtE N = 80,000 80,000
14 DBt 2 a3 80,000 80,000
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FHAAHSSEXNST
=AI1E EER-E)
SA - B - SRUBH) - MRAR - BAS A HIDEZ
DAMSISXSANEERZ2
100,000 *400H <22 80,000
MNESRL(HEAIY) 209,354 209,354
301 EtE2 NS 209,3%4 209,354
0 ARI=EREEHE 209,354 209,354
NARISLRE =2 187,626,000 187,626
NMEI=ER2E DS 19,928,000 19,928
NAIELe@ 1=t 1,800,000 1,800
A2l=2R3 18,480 271,720 29,240
301 EtE N = 18,480 271,720 29,240
0 AR=22as 18,480 271,720 N9,240
DA SR SA4H|
8,0003 10 =231 18,480
FEHUFSAIFE 690,000 519,000 171,000
401 Al HIZ S 0HHI 690,000 519,000 171,000
01 Al&HI 690,000 519,000 171,000
NEZ2EA=IA 500,000,000 * 194 2 500,000
222X el
95,000,000 %27 2= 190,000
=X 222 50,500 580,000 /529,500
401 AIEHIX R0 40,500 560,000 /519,500
01 A28l 40,000 558,000 /518,000
NEXg 2R 2 10,000,000 *40H 2= 40,000
03 AlESTHYI 500 2,000 1,500
NEXgl 2SI RS 500,000& 500
405 AHAHE S 10,000 20,000 10,000
01 AL =S F=HI 10,000 20,000 10,000
NEXs 223K 10,000,000& 10,000
ASISTAIEBAMNAHERHE(EX) 2,000 1,200 800
= 1,000
o 1,000
307 212t01 & 2,000 1,200 800
=S 1,000
s 1,000
06 28= 2,000 1,200 800
NAZISXIAIE SAA dEHEEE X
2,000,000& 2,000
& 1,000
= 1,000
LeSUIHZASIDISUH=EHIIS(EX) 87,000 47,000 40,000
Jl 87,000
301 2= 87,000 47,000 40,000
7l 87,000
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01 A2 HSHS(RRNEERTH) 87,000 47,000 40,000
NeelsSUIHZAERDISH S22 At
87,000,000& 87,000
Jl 87,000
DEMUSL 2RI HARE(EX) 15,000 0 15,000
= 7,500
== 4,500
o 3,000
301 22N = 15,000 0 15,000
= 7,500
= 4,500
o 3,000
01 Al 2E A S(FRNEXMA) 15,000 0 15,000
NOSAL 012 & 22| AFERIHA
15,000,000 15,000
= 7,500
= 4,500
o 3,000
ZOHLI=XI 11,150,084 10,509,575 640,509
= 5,227,709
= 524,000
S 1,194,29%6
= 4,204,079
oI =X 21,470 21,466 4
201 er23 | 11,570 15,466 A3,8%
01 At2teltl 4,992 4,448 544
NEOHLI=X FR AREE 7Y
70,0002 128 840
NEHASX FRFX OHAH
8,000 *32 »882] 2,112
NZOHRI X2 F=XEX P
1,000 «500H 500
NEHL SSXE MHAMRRE FAxE
70,0002 x1&8 %123 840
NEOHI=SXARS Sa+g
70,0003 *102 %12 700
2 S5=2g4l 6,578 11,018 A4,440
NHUASANE & S| LS RBRS
3,820 +5002] 1,910
NHAABFRTY S S| 0122
9,000& 14123 108
NS XNEZHHE 25& TV 0182
76,0003 x50 122 4,560
202 04l 9,900 6,000 3,900
01 SLHoIH 9,900 6,000 3,900
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)AL= 2% =LHOH|
60,0003 x3& *503] 9,000
NEOHI=X SFA ALHOIY
60,0002 x1& %153 900
ool 10,390 11,490 A1,100
201 2= 3,390 4,490 A1,100
01 At22t2lt] 3,390 4,490 AT1,100
NZoHeIIAEG oY S E22 MA
80,0002 *15JH*22] 2,400
DEHIXIESA L AABSTAAS B4
g 70,0002 x7 13 490
NEofelel HaHolg NS
100,0002 %52 500
301 2P EN= 7,000 7,000
02 AR 2EH LGS (HAAS, NLWE) 4,000 4,000
NelAEHMY K LKA A=
500,000 82 4,000
14 DBt 2 a3 3,000 3,000 0
NeIAEC ADK Z&3
3,000,000& %1 3,000
O =2 L 2SS AL 187,350 178,350 9,000
307 @I2t01 & 187,350 178,350 9,000
03 LM EHE2SHIEX 94,500 85,500 9,000
Nsotelgsl MetzXe 23| X2
10,000,000 10,000
DXHMZOHAES stz X 298] XA
79,500,000& 79,500
NDAIZZOHIE S Aotz X8 298] X
5,000,000& 5,000
11 AMRISXAEEES 92,850 92,850 0
NEMISR BERBA X2
2,600,000 2,600
1alekz ZOHI SOt SHES AU X
40,000,000& 40,000
Naletz XM 23 ME K
7,000,000& 7,000
NEEXMEIISZINUE &It X2
1,500,000 1,500
NEGTHMEHATHSS AU It X2
2,250,000& 2,250
DAMEBHAMES=HIL IS X2
2,000,000& 2,000
NEIXHF UM =S SOt XA
3,000,000& 3,000
NEESOotAMSUE &t X2
6,000,000& 6,000
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etz ol HE s Us X
3,000,000& 3,000
Nad sotelel & AL 4 X
1,000,000 1,000
Naloka HAANWZOHL! MElLE XIS
3,000,000& 3,000
NaXZolee J1g4l g4 X
1,500,000 1,500
DAIZIZOHS! STl It X
2,000,000 2,000
NEOHRIS & AL 4 I
2,000,000 2,000
Ngse M =0t XIEX thal EIHXI
2,000,000& 2,000
NEOHRIIADN ATl S FMEL ALY
7,000,000& 7,000
NEEXNHME LM &It KR
7,000,000 7,000
STTHA NS MEX L (EX) 261,510 255,000 6.510
= 43,302
o 218,208
307 el2to| & 261,510 255,000 6,510
= 43,302
o 218,208
10 AlISXAZEHE 22X 261,510 255,000 6,510
NESTHANSHEXRHE 29 K&
216,510,000 216,510
< 43,302
[Ea 173,208
NESSHNANS YR AMEH 2SR
45,000,000& 45,000
HOIHEERE(EX) 57,500 55,600 1,900
= 11,500
o 46,000
307 @I2t01 & 57,500 55,600 1,900
== 11,500
o 46,000
10 Al2ISTIAIEEE 22X 57,500 55,600 1,900
NZEHL HEs 2EAH 57,500,000 57,500
< 11,500
s 46,000
HEHEACISHETTMAXSEHIILRI(EX) 84,944 42,991 41,953
= 25,483
Ea 59,461
307 gl2to| & 84,944 42,991 41,953
=S 25,483
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 59,461
11 AMEISXAEEXS 84,944 42,991 41,953
NESZH XY XSS FHIXNH
84,944,000 84,944
== 25,483
[Ea 59,461
ZOHQIOIZAIE2E(EX) 442,010 412,089 29,921
= 87,270
= 364,740
307 elzto| & 442,010 412,089 29,921
= 87,270
Ea 364,740
10 AlISXAAEEHE 22X 332,740 288,398 44,342
AIOHR A0 EAME 22 T2
165,320,000 165,320
== 33,064
o 132,256
a2 SAME 2 X2
39,000,000& 39,000
NZOHRI0IZBAIE BANSE=E
17,280,000 17,280
=S 5,184
s 12,096
NI MSOISXJAHEH 29 X2
111,140,000 111,140
== 22,228
= 88,912
11 AMEISXAIEEXS 109,270 123,691 A14,421
NEHe 32 AR 228 29
40,000,000 40,000
=S 12,000
s 28,000
NEMe=ndd T2 2
3,800,000& 3,800
= 1,140
= 2,660
NELTOHAAISHH T2 DB NELY XA
5,600,000& 5,600
=S 1,680
s 3,920
DXMEHAHAA LR HEH 2E X2
59,870,000 59,870
= 11,974
= 47,89%6
HOHRIHRI2HAIE(EX) 923,639 818,183 105,456
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561,448
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—

,595,771

962,903
124,137
508,731

1,382,983

212,788
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218,855,000
11 ARIEXAIEE X
DEOIHFAIL
1,340,000

Mo W
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1,005

1,381,703

1,280

212,728

M

20,000
6,000
14,000

20,000

M

20,000
6,000
14,000

20,000




FA F2US
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02 MBI 2HHSFHS(HAANS, XLHE) 20,000 0 20,000
NEOHAUNFAILEIATIEIIEES X
20,000,000& 20,000
= 6,000
Ea 14,000
ZOoHeIo ZHI(BX) 39,369 42,318 A2,949
= 31,49%
= 2,362
o 5,512
308 AXIHSO0IA 39,369 42,318 N2,949
= 31,495
= 2,362
= 5,512
18 SIS0t oA AS A 39,369 42,318 A2,949
NEohele =l X 39,369,000& 39,369
= 31,495
< 2,362
= 5,512
HFoH==20I=)(ExX) 296,725 169,620 137,105
= 207,708
< 26,705
T 62,312
301 EtE NS 296,725 169,620 137,105
= 207,708
== 26,705
o 62,312
01 Al 2E AL S(SRNEXM) 296,725 169,620 137,105
NEW=ZOIxX) 296,725,000& 296,725
= 207,708
S 26,705
o 62,312
o= XAR)(EX) 206,934 166,380 40,554
= 144,854
= 18,624
o 43,456
301 EetE NS 206,934 166,380 40,554
= 144,854
= 18,624
[Ea 43,45
01 Al EE A S (2 REXMR) 206,934 166,380 40,554
N+ (9 S) 206,934,000& 206,934
= 144,854
= 18,624
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SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
| = 43,45
HOfCIAS(EX) 1,771,803 1,748,203 23,600
= 1,240,262
& 159,462
[ 372,079
301 LB F 1,771,803 1,748,203 23,600
= 1,240,262
& 159,462
= 372,079
01 A BE X2 (2 REETA) 1,771,803 1,748,203 23,600
nHEoel=z 1,771,803,000& 1,771,803
= 1,240,262
= 159,462
= 372,079
oI =SXEHLRC(EX) 145,108 128,79% 16,313
= 72,554
= 21,766
= 50,788
101 2124 d| 143,608 128,79% 14,813
= 71,804
& 21,541
= 50,263
M IIRNZ22XsSEs 143,608 128,79% 14,813
DEAIL X XIA(SXE) 1Al S
143,608,000& 143,608
= 71,804
& 21,541
= 50,263
201 B2 AL| 1,500 0 1,500
= 750
T 225
= 525
01 At 2elt] 1,500 0 1,500
DEMISXELRtel FUZ
1,500,000& 1,500
= 750
T 225
= 525
ooty (ML) LR2(BX) 354,849 328,751 26,098
= 177,425
T 53,227
= 124,197
101 2124l 353,849 328,751 25,098
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= 176,925
=S 83,077
s 123,847
04 JIZtN2Z2 XS E 363,849 328,751 25,098
0@%@%xax%&*'m)gau|%
353,849,000 363,849
= 176,925
= 53,077
o 123,847
201 =3 1,000 0 1,000
= 500
= 150
o 350
01 Al 22| 1,000 0 1,000
NEHAMLH U2 LB
1,000,000 1,000
= 500
= 150
o 350
ZOHQI LB (A2 2 A2l (EX) 133,002 124,200 8,892
= 66,546
= 19,964
[Ea 46,582
101 @1A4H| 131,792 124,200 7,592
= 65,896
= 19,769
= 46,127
04 JIZtNZ22 NS 2+ 131,792 124,200 7,592
DZOHIL X2 R (AIZHA) Al S
131,792,000 131,792
= 65,896
= 19,769
= 46,127
201 er23y| 1,300 0 1,300
= 650
= 195
= 455
01 At2teltl 1,300 0 1,300
NEOAAIREML R SUHBH
1,300,000 1,300
= 650
& 195
= 455
OIS SXI (EX) 1,185,571 1,496,180 /310,609
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